RERR

< KK BEEOMHEEEGR >

TH B BP0 CF Rk 2 14E BE) | B A (OF- sl 2248 B ) BT
K& O | = AL b o % 100% 100%
H 9| e b= R 100% 100%
% % B |k K B 100% 100%
BeHE | — Wb ik 100% 100% B 55 R 4 3
DER [N 100% 100%
R NV = === SR 100% 100%

Fho/apzFL v 100% 100%

vruana AL 100% 100%

MO O ERRIT, BRIARICERT 2582,

EZL{A
<K EBR 5L O £ 4 B AR >

TH H TP CE R 214 ) | B AR (O sl 224 ) BN
KB 75 2 | (BOD) 97. 7% 100%
& % B 5% H |k (CoD) 75. 0% 100%
e (B E BRI (CoD) 75. 0% 100% B BT Ok 42
BEHE) o|WME (29 A) 75.0% 100%
Ok R |WEREER VA 100. 0% 100%
15 AR ALER N 1 R R 68.5% 78% AETE RSO 5
<AbEEWE O B 5 2 PR 4R >
H B B CEp2 14 ) | B AR (GFRR 224 %) &% it
A = S I N 100% 100%
VAT AR D | A3 oK e 100% 100%
BREEEO| (KE)
= A ) B/ o i 100% 100% B BRIk At
(JIE )
Rk 100% 100%
- 5 100% 100%
ZAFx T A R R A B 2.3 g-TEQ/4E 2.2 g-TEQ/M | pgdy- V(i

<WEE -ED, ERSoIEEER>

H H BAPL CFE Rk 214 BE) | B A (O sl 2248 ) E R
B E IR B |EE () 88. 6% 100%
B LM O (RS GEEKICH 96. 9% 95%
ok E |95 M) IR B AR A
WL 22 1 B 100% 100%
g R R 60% 100%




<P BRI AL 2 o P Rk B AR >

(27U — 1)

g E B CEpk 21 E) | CER224 ) E
—REEDHEN & (B &E) 574F ~ v 572F b~ v~
(F B 204 )
— W FEEDHEHE UALR D 908¢g 882g
7= 0) (¥ R 204F FiF)
PE 2 g FE W) HE H & 8,767F kv 8,504F kv
(F B 174 )
— I BEFED Y A TR 16.8% 33% FESE - VIR
(3F B 2045 )
PE 2 BE W) ORI H 2K 52.9% 57 %
(F i 17482 BE)
— % BE FE W I AL Sy 63F k>~ 55F k »
(F % 2048 JE)
JBE 35 BE TE W) I HE AL Gy XK 424F kv 296 T b~ v~
CGF B 174 )
BEXERHET I AT v 7 HEBA 72.1% 55% £ DI R HEER
LB S
R FEEY B &R A= 100% 98% LL I
(FTAZ7)v b« a7 )— KB A A B ==
% BE I B PR Ak R 100% 96% LL I

KRIEXBEEVBENMMR, EXEEVREKLTETIRXEZER,

< HOBRRR RIS U A RBREE O e 2 PR >

TH H Bl CER2IEE) | B CF k224 ) =+ 75 it
BN BB & & 9T i 13 At 13 & fr ER/ e
AR | R iE i) i 85,812 ha 84,000 ha
< AW SR O R 2 B R >
TH H B CER2IERE) | BB CERR224 %) BT
B k| R E T K 1366 At 137 % At S/ e
38 X | $8 0E 67, 093ha 76, 388ha
% A K-35 <0 i & P 3K 43 7% Bt 43 1% At Pl
<FEDZEM O A - B AE B4R >
TH H B CER2IEE) | BE CERR224 ) BT
#woowmfREms | 1,855ha | 1,860.2 ha | G R
NN N 13.1 m*/ A 13.2 m*/ A
ok > & A G TSR E T 0T AT 3K 5 LR
BR S o F 4 78 1,212 A 1, 000 A TR AR I i R
Ty =~ AHK— 40 A 100 A
(HEYDOREER) &
< KO ZE R O R4 - B g >
TH H Bl CER2IEE) | B CF k224 ) =+ ¥t
U ox— 71 > b AT B 26 & ft 25 & ft OPlE:S
BLAKHE =B R E B R 26 & At 27 & 2 Hb B g AR
[EBIES Pk B R 1164 14 Fir PR VA 72 PR R
< E O >
TH H B CER2IERE) | BB CERR224 %) BT
ERROMPAERE | R’ E 19, 900m 22.186m JH B MEFF R
i % 5 B 1,710m 1, 860m Pk T 72 PR R

,10,




< HiER IR B2 b o By 1k >

H H P CER 214 ) | B AR CERR224 %) B T
BEDRET 2N E 14, 166F b v~ 13,218F b v
CF BR 204 J£)
HhER IR BE AL Bk 52 AT R E 30 4T BT AT HhER VR B2 AL %
DLIEEES AR
KBGOt 38 75 8N & 62, 093kW 83, 000kW
JE\ 77 36 EE N & 154, 415kW 70, 000kW
KA EHE A G 213, 085%& 140, 000 &
(FRE 184 %)
<BREHAEG - RETH O HLE>
TH H B CERC2IEE) | B CFRR224 &) B T
b as T T ERE TR 35 M A L) H1BR IR BE AL X
R
TN =< AL — (BEVYD 40 A\ 100 A TR bR i R
FEE) &
< TN —U R—2 1 OHEE >
TH H Bl CERR2IEE) | B CF k224 ) B
75 K AUER N O K SR 68. 5% 78% ARG HEA R =
<HE W BT T v — ol o fE i >
I H B CER2IERE) | BE CERR224 %) BT S
coD 75% coD 100% | BREMR A2
KPR 4 B R k= %= H% 100% %= # 100%
v A 50% D A 100%
<EBE LWL REOHE >
I H B CER2IEE) | BE CERR224 %) BT S
F i P o Wy i OE AL B R 99% 100% & g
TaT7 7y —v—RBEHEEK 4,316 A 5,290 A RO EHEETR
BERHETS I AT v HEL 72.1% 55%
AL SR
<HERERBE 25 20 2 L F R BRGE®) o #E >
I H B CER2IEE) | BE CERR224 &) BT S
R TE B HEE B TR 520 A 800 A H1 ER I8 12 1k 5t

TR

<HZIANX—T T2 1 OHE>

IR

H H B CERL2LAFE L) | B AR CE 224 ) B
NP RPN s 62, 093kW 83, 000kW
JR 77 58 W8 N 154, 415kW 70, 000kW Hit B R B AL %
7V —rzx¥—QgEHE 12, 282% 39,0004 o5 2




